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Topic:- CDP_P1_CTET

1) Intellectual abilities such as imagination, critical thinking and metacognition are discussed

dominantly under domain of development.

(1) social
(2
(3
(4) cognitive

physical

moral
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[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_110_Q1]

1. 1 [Option ID = 1]

2. 2 [Option ID = 2]

3. 3 [Option ID = 3]

4. 4 [Option ID = 4]

2) Which of the following principle of development states that development proceeds in ‘head to

toe’ direction ?

(1) Principle of Continuity
(2
(3
(4) Proximo-distal principle

Principle of Heredity
Cephalo-caudal principle
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_110_Q2]
1. 1 [Option ID = 5]

2. 2 [Option ID = 6]
3. 3 [Option ID = 7]



4. 4 [Option ID = 8]

3) During early age, which of the following agencies act as primary agencies of socialisation for
children ?

(1) School and print media

(3
(4) Neighbourhood and social policy

)

(2) Social media and law
) Family and neighbourhood
)
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[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_110_Q3]

1 [Option ID = 9]
2 [Option ID = 10]

. 3 [Option ID = 11]
. 4 [Option ID = 12]
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4) According to Jean Piaget's theory of cognitive development, at which stage most children
become capable of performing tasks requiring concept of conservation ?
(1) Sensorimotor
(2) Pre-operational
(3) Concrete operational
(4) Formal operational
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[Questlon ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_110_Q4]
1 [Option ID = 13]
2 [Option ID = 14]

. 3 [Option ID = 15]
. 4 [Option ID = 16]
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5) As per Jean Piaget’s theory, significant changes in cognitive thinking takes place through the

process of
(1) equilibration
(2

)

) irreversible thinking
3) rote memorisation

)

(
(4) delayed imitation
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[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_110_Q5]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) Who among the following proposed that ‘our specific mental structures and processes can be
traced to our interactions with others’ ?
(1
(2
(3
(4

Howard Gardner
Lawrence Kohlberg
Jean Piaget

Lev Vygotsky
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[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_110_Q6]
1 [Option ID = 21]
2 [Option ID = 22]
3 [Option ID = 23]
. 4 [Option ID = 24]
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7) Which of the following has been emphasized by Lev Vygotsky to facilitate learning ?

(1) Cultural tools

(2) Social isolation

(3) Rewards and punishment
(4) Drill and Practice
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[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_110_Q7]
1 [Option ID = 25]
2 [Option ID = 26]
. 3 [Option ID = 27]
4 [Option ID = 28]
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8) At which stage of Lawrence Kohlberg's theory of moral development do children follow 'tit for
tat’ reasoning to judge the actions of themselves and others 7

(1) Instrumental purpose orientation
(2
(
(

)

) Good boy - nice girl orientation

3) Social-order maintaining orientation
)

4) Social contract orientation
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_110_Q8]
1 [Option ID = 29]
2 [Option ID = 30]

. 3 [Option ID = 31]
. 4 [Option ID = 32]
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9) In a constructivist classroom, students are encouraged to learn

(1) through discovery
(2) for gaining external rewards
(3) by passive imitation

(4) by rote memorisation
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[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_110_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) As per Jean Piaget's views, ‘Private speech’ among children represents their

(1) advanced thinking
(2) inability to regulate their thoughts
(3) problem solving strategies

(4) metacognitive skills
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[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_110_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) Contemporary theories conceptualise intelligence as :

(1) unidimensional general ability.
(2) multidimensional ability having several different aspects.

(3) an ability not influenced by heredity.

(4) an ability not influenced by environmental factors.
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[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_110_Q11]
1. 1 [Option ID = 41]



2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) A teacher often says that 'Girls are good at dance and boys are good at science.’ This
statement is an example of :

(1) gender bias
(2) gender stereotype
(3) gender equity
(4)

4) gender empowerment
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[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_110_Q12]
. 1 [Option ID = 45]
. 2 [Option ID = 46]
. 3 [Option ID = 47]
4 [Option ID = 48]
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13) In order to cater to the individual differences among students related to social and cultural
domains, it is important to :

(1) adopt child-centric pedagogy.

3

)

(2) follow a rigid and standardised curriculum.
) implement summative ways of evaluation.
)

(
(4) divide students in different groups based on their social and cultural identities.
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[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_110_Q13]
. 1 [Option ID = 49]
. 2 [Option ID = 50]

1
2
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]



14) Main purpose of assessment isto :
(1) create a feeling of competition among students.
(2) induce fear of failure among students.
(3) categorise students as ‘pass’ or fail'.

(4) understand students’ progress and challenges in learning process.
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[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_110_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Assertion (A) :
A teacher should encourage students to ask questions in the classroom.
Reason (R) :
Questioning plays an important role in developing critical thinking.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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1[Q:J([a;tit?n III; =517']5][Question Description = CTET_P1_PART_1_CDP_SET_110_Q15]

2. 2 [Option ID = 58]
3. 3 [Option ID = 59]



4. 4 [Option ID = 60]

16) Assertion (A) .
It is important to implement standardised curriculum for successful inclusion of students
belonging to disadvantaged groups.
Reason (R) :
Standardised curriculum accounts for all kind of individual differences among learners.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

AT (A) :
F=a A9 7 gataa Feniaal F awe GHET g Arsigd G5and Hl AR
FYAT TgT T € |
T (R) :
TAHIHd TTSTHH AT ATA il TAT THTC 0 =0T (AT Earat H a9iied
FLAATE |
(1) (A) 8% (R) TT4T @€ € &1 (R), (A) #T 7ET =ATAT T34 ¢ |
(2) (A) &% (R) FTAT TET E @i (R), (A) T LT =TT 7L ¢ |
(3) (A) 5ET & i (R) T4 € |
(4) (A) 8= (R) =TT T 2 |
[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_110_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) Which of the following factors hinders inclusion in education ?

(1) Competition among students
(2) Multisensory approach

(3) Infrastructural accessibility
(4) Child-centered pedagogy
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[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_110_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Which of the following statements is correct in context of students having dyslexia ?

(1) They often face difficulty in text comprehension.

(2) They are always lazy.

(3) They cannot be gifted or talented in any field.

(4) They always have above average intelligence levels.
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[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_110_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]

3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Impulsivity, inattention and disorganisation are direct identifying characterstics of :

(1) Attention Deficit Hyperactivity Disorder
(2) Autism

(3) Dyslexia

(4) Visual impairment
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[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_110_Q19]
1 [Option ID = 73]
2 [Option ID = 74]
3 [Option ID = 75]
4 [Option ID = 76]
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20) Which of the following is 2 comprehensive method to identify specific learning difficulties of
students ?
(1) Standardised Intelligence Quotient (I1Q) tests
(2)
(3)
(4) Case study

Multiple choice questions based tests

Exams at the end of year
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[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_110_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Children learn effectivelyby .

(1) rote memorisation of content
(2) interacting with objects and people around them
(3) fear of punishment

(4) passively listening to the teacher
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[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_110_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]



22) Which of the following enhances engagement of students in learning ?

(1) Self-regulation by students.
(2) Formation of entity view of ability.
(3) Low expectation of teacher toward students.

(4) Presenting content which is disconnected from their context.

7= 5 | Fra-97 [F=nti=t 1 A8s | @9 w6 Agan g ?

(1) A==t gy =R

(2) F=fa= F1 TrIar F wia ga/Eaw 3w a9 |
(3) sreama= it Tty = afe w7 9ot g

(4) 7% 539 7 et AT wega w7

[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_110_Q22]
1 [Option ID = 85]
2 [Option ID = 86]
. 3 [Option ID = 87]
4 [Option ID = 88]
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23) Which of the following approach emphasizes on the learning through self-initiated activity by
students and balanced facilitation by the teacher ?

(1) Behaviourism

)
(2) Observational learning
3) Expository teaching

)

(
(4) Social-constructivism
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[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_110_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]



24) Assertion (A) :
In a constructivist classroom, it is important to create opportunities which help students to
develop critical thinking and problem solving skills.
Reson (R) :
Meaningful learning is primarily reproduction of knowledge.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_110_Q24]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) Errors :

(1) play no role in the process of learning.
(2) can be eliminated only by the way of negative reinforcement.
(3) are committed only by students having learning disabilities.

(4) should be analysed well by the teacher to understand learning gaps.
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[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_110_Q25]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26) Cognitive skills such as attention, memory and problem solving etc. are
(1) not influenced by emotional state of the individual
(2) negatively impacted by positive emotions
(3) positively impacted by negative emotions

(4) significantly influenced by emotional state of the individual
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[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_110_Q26]
1 [Option ID = 101]

2 [Option ID = 102]

3 [Option ID = 103]
4 [Option ID = 104]
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27) A teacher should motivate students to learn for :

(1) gaining superiority over others.
(2) getting tangible rewards such as cash prize, certificate etc.
(3) enhancing their understanding of the concepts.

(4) obtaining praise of teacher and parents.

(1) THT F FOL ASAT I & o
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[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_110_Q27]
1 [Option ID = 105]
2 [Option ID = 106]

3 [Option ID = 107]
4 [Option ID = 108]
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28) Which of the following pair of characterstics positively contribute to problem-solving abilities of
students ?

(1) Response set, metacognition

)
(2) Analogical thinking, functional fixedness
3) Response set, convergent thinking
)

(
(4) Divergent thinking, metacognition
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[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_110_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) Which of the following factors becomes a barrier to learning process in classroom ?
(1) Rigid seating plan
(2) Multiple ways of representation of the information
(3) Respect for diversity

(4) Resource-rich environment
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[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_110_Q29]
. 1 [Option ID = 113]
. 2 [Option ID = 114]

1
2
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) To support students for learning a new concept, a teacher should :

(1) lllustrate concept through one method only.

(2) Avoid clarifying vocabulary and symbols.

(3) Ignore activation of previous knowledge.

(4) Establish links between different sub-concepts.
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[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_110_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_CTET
1) Shrikant purchased a bunch of tulip flowers having 5 pink, 10 red, 12 yellow and 4 white
flowers. If each tulip flower has 6 petals, then how many petals are there in the bunch ?
(1) 192
(2) 180
(3)188
(4) 186
ST F =T % Tl 1 UF g7 90ET, omH 5 @, 10 @, 12 9w
AT 4 T2 TA 2 | TR TAF ST % FA § 6 TgIeAl 2, 91 39 T=9 § T
et dgfEar g ?
(1) 192
(2) 180
(3) 188
(4) 186

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) Numbers written in decreasing order are :

(1) 3568, 2542, 5249, 2250, 1248
(2) 5249, 3568, 2542, 2250, 1248
(3) 1248, 2250, 2542, 3568, 5249
(4) 5249, 3568, 2250, 2542, 1248
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(1) 3968, 2542, 5249, 2250, 1248
(2) 5249, 3568, 2542, 2250, 1248
(3) 1248, 2230, 2542, 3568, 5249
(4) 5249, 3568, 2230, 2542, 1248

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

. 1 .
3) First bunch of bananas has 3 excess to as many bananas as in second bunch. If the second

bunch has 3 bananas less than that of the first bunch, then the number of bananas in the first

bunch is

o 35 TR S Y TR A A 6w € | o atn d | AR g
T T ¥ At 8 3 T 2, AT v [ et e

(1)9

(2)10

(3)12

(4)15

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q33]

1. 1 [Option ID = 129]

2. 2 [Option ID = 130]

3. 3 [Option ID = 131]

4. 4[Option ID = 132]

4) In number 998, if first and third digits are interchanged, then difference between original and

new number will be
(1) 101

(2)
(3)
(4)

9
89
4)99
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% HEEr & ST g

(1) 101

(2)9

(3) 89

(4) 99

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q34]

3 (option 10 - 134]

3 [Option ID = 135]
. 4 [Option ID = 136]

A wWw N -

| 5
= = 2
v 120 8 38 and ?2,Whlch is the smallest fraction

%) Among thefractions% L

g #e & T wET g e e E 2

9’ 12' B' 36
OF
25
@)=
4)—

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q35]
1 [Option ID = 137]
2 [Option ID = 138]
3 [Option ID = 139]
4 [Option ID = 140]

A W N -

6) Number of prime factors of 1000 is



1000 * AqTH [UAETE! FT HEAT

(1)6
(2)2
(3)3
(4)°

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) If sum of 921-20 and 21285 is subtracted from the sum of 976-21 and 243-72, then what will
be the result obtained ?
(1)85-88
(2) 7478
(3)86-98
(4)84:76

T3 976:21 #T 243-72 % ANTHA § 7 921-20 37 212-85 F AWTFHW FHT T2T49T
ST, 7 IT0TH T 916 ZR1T 2

(1) 85-88

(2) 7478

(3) 86-98

(4) 84-76

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) How many lines of symmetry are there in a circle ?
(12
(2) Infinite
(3)1
(4)4



wF g7 7 et autag T gt g ?

(2
(2) st
(3) 1
(4)4

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q38]
1 [Option ID = 149]
2 [Option ID = 150]
3 [Option ID = 151]
4 [Option ID = 152]

A wN =

9) Using six equilateral triangles, you can make which of the following shapes ?
(1) Regular pentagon
(2) Regular hexagon
(3) Square
(4) Regular octagon

R R E ke e O D s B R e e B e A B A e e B e s

(1) 79 9=
(2) =7 9ZgS
(3) =

(4) |H =S

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) In the table given below, there are two columns X and Y. Match the type of angle given in
column X with the measures of the angle given in column Y :

X ¥

Type of angle Measure of angle
A. Acute angle a. 180¢
B. Obtuse angle b. 90"
C. Straight angle & 120°
D. Right angle d. 45°

(1) A-d, B-a, Cc, Db
(2) A-b, B-c, C-a, D-d
(3) A-a, B-d, C-b, D¢
(4) A-d, B-c, C-a, Db



Fe ST § T Xdr Y ma X AR s e =T Y
T =0 7 0T A qTT T AT A

X ¥

FI0T % T FIT T HTT
A. FI ST a. 180
B. wfersm b. 90-
& ErEEau| c. 120
D. THH T d. 45°

(1) A-d, B-a, C-c, D-b
(2) A-b, B-c, C-a, D-d
(3) A-a, B-d, C-b, D-c
(4) A-d, B-c, C-a, D-b
[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]

3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) [tis given that weight of 1500 coins is 9 kg. What is the weight of 2200 such coins ?
(1)11kg 800 g
(2)13kg200 g
(3)12kg 400 g
(4)13kg 800 g

= a8 % 1500 Tt 1 917 9 kg & | TH 2200 f=rai &1 917 Fa=r grm
?
(1) 11 kg 800 g
(2) 13 kg 200 g
(3) 12 kg 400 g
(4) 13 kg 800 g
[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]

3. 3 [Option ID = 163]
4. 4 [Option ID = 164]



12) Seema purchased a saree of 5-1 m length. She had a beautiful design on a tracing paper of 30
cm length. Using the tracing paper, she wants to trace one of the lengths of the saree with this
design, which she will paint afterwards. How many times will she have to use this tracing paper
to achieve her objective ?

(1) 38
(2) 34

(3)17

(4)19

HET 7 7F 51 m waTe FiT AT I | S T U 2069 097 9% 30 om @& T

F Ha7 [eWTed 2 | 39 <69 U7 il AgrEdar H, 98 39 ATel A UF d4re # o7

fEoiTe & 23 FT Jrgdr g, o a8 1% § 92 %9y | 39 fFasr a1 27 ZE6T

T T TR FZAT AT 7 IHFT I297 TIT &1 17 2

(1) 38
(2) 34
(3)17
(4) 19
[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]

3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) What was the time 4 hours 20 minutes before 9:10 am ?
(1)4:20 am
(2)4:30 am
(3)4:50 am
(4) 1:30 pm

9:10 am ¥ 4 "2 20 Tz 7ger Far 797 a7 2

(1)4:20 am
(2)4:30 am
(3)4:50 am
(4)1:30 pm

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]



14) In a pictograph, nhumber of persons reading 1000 newspapers were represented by using a
particular symbol. By how many such symbols will the persons reading Hindi newspapers be
represented, if their number is 8500 ?

(1)85
(2)85
(3) 850
(4)0-85

et femara §, 1000 F9=E-95 984 aTer sqinar &1 T @ gdT %
START g7 fesfue BT smar € | B a9=ast 1 98 AT st &
e F= F foro o9 fras gd=t 7 soanr BT o, afs e we
8500 7 ?

(1) 85

(2) 85

(3) 850

(4) 0-85

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15) Study the pattern and write the missing number :

1x1 = 1
11x11 = 121
111%111 = 12321
1111x1111 = 1234321
1M1111x11111 =
(1) 12354321
(2) 12343421
) 123454321
)

(3
(4) 12345321



a7 AP ST & oo v forfa
1x1 = 1
1111 = 121
111111 = 12321
1111=1111 = 1234321
1111111111 =

(1) 12354321
(2) 12343421
(3) 123454321

(4) 12345321

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET

1) Which of the following is a pre-number skill ?

(1) Recognizing symbols of numbers

(2) Ability to write number names in words
(3) Ability to write counting

(4) Ability to classify objects

Feaforfad § F F19-A7 920-09 F19 2 2

(1) HEaTdr & =gl i Tg=TEAr

(2) FveTTr & orsat § forae # Traar
(3) Freeft o &t T

(4) FEGAT FHT AT Ha FHed 0 TFTAT

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) Which of the following teaching-learning resources can be best utilized for the teaching of
fractions and their operations to primary grade students ?

(1) Equal sized circular "Pie” pieces

(2) Pictures depicting % and %

(3) Line segment drawings on the blackboard

(4) Fractions written in symbolic form on the blackboard



sTatRE w7 F et 71 9w ua st A twanar & forqor g Mefofaa g &
FIA-H TOrAT-F AT 3 JTE T G99 F=a0 ITANT AT ST FHaT1 2 ?

(1) TATHE “q57 F FE0ET &ohe
(2) o & o 5 o - 1 39T
(3) 9ATHTZ U TETETE FATAT

(4) samHuz I T f9e=1 &7 T =9

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q47]

1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

%) In his class 5" mathematics test Saroj writes down that 3-24 is greater than 4-1, and argues
that ‘A number with three-digits is always bigger than one or two-digit number.’ It is an example

of

(1) careless error

)
(2) comprehension error
(3) conceptual error

(4) both careless and comprehension efror

FAAT AT 5AT 0 0T T THAT H 770w forad g 6 41 7 3-24 =T T97 48
T 3q 8 & AT SR AT T gHAT UF 47 3 HF A AT F qET gl g !

g W SERIWE

(1) araaTg qfE

(2) FTEATAAT 7 HATAT T

(3) ATHTIUTHSE {2

(4) =TT ATITATE S ST ATEEAT 7 Haied i

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q48]

1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]



4) According to National Curriculum Framework, 2005, Mathematisation refers to
A. interpreting or expressing mathematical ideas
B. solving all textbook questions
C. acquiring good grades in mathematics

D. the skill of seeing things in a mathematical way
Choose the correct option :

(1)AandD
(2)A, Cand D
(3)BandC
(4)Only C

TTSAT UT5= AT 9@, 2005 F ATATE, T 3207 &1 7104 2

M

A. T B=TET #T =TIt FEAT I7 AT FIAT
B. OTEIIEAE & HAT TA1 I g HLAl

C. 0 H &=ef T ITo F7AT

D. =TSl &7 T T &7 7 36 T 97T
el fased #1247 e

(1)AETD

(2)A, C#7D

(3)B T C

(4) %= C

[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

5) Which of the following assessment techniques would help to enhance interdisciplinarity in
mathematics ?

A. Portfolio
B. Project
C. Field trips

D. Observation
Choose the correct option :

(1)Aand D
(2)Only D
(3)Only C
(4)Band C



feaforfaa o o Fa-T Ao T 1 T § darautasmar it gia F§ agraar
FYAT ?
A. TTEFTerET
B. uf¥arser
C. &= 997 (Fies f2om)
D. =
gl faFeT #1797 FfSu ;
(HA#TD
(2)%= D
(3)FaT C
@4)BsTC
[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]

3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

6) Saba was given a set of rectangles in different orientations. She observed that in all the
rectangles opposite sides were respectively equal. She is at what stage of Van Hiele's
geometrical thinking 7
(1) Visualization
(2) Analysis
(3) Informal deduction
(4) Formal deduction

a7 & Afas afafzm=mat § araat 1 vF 92 &gy @y 9r ) 399 337 & adr
AT H AT goT w99 A | Ag 49 29 % SATHA g =ead &
FTMGT g ?

(1) g

(2) FEeeor

(3) FATI=ATR = FmH

(4) =T A

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]

3. 3 [Option ID = 203]
4. 4 [Option ID = 204]



7) Which of the following strategy, is most appropriate for a mathematics teacher to enhance
creative abilities of the students ?

(1) Instruct students to follow same strategy to solve the problems as discussed in class
(2) Encourage students to seek alternative strategy to solve the problems

(3) Encourage students to do more exercise on the same pattern as discussed in classroom
(4)

4) Encourage students to follow deductive approach to solve the problem

G i TAATCAS ATATAT 1 "2 =+ foro, Featortas § 7 Fm-1 g 7iia 5

U= HLATTH & o707 T IIAFT g ?

(1) BT 7 FAT § FAT Al Te TEHAATA B g A % [0 Gl LIk T
T I &7 Heer &

(2) F=nfe &t a9ersl ® g F4 & U dwfeqs el qanee & o

(3) A=TTE=T &1 ST T2d 9% AT9F A9 Fed & 00 YieAlied ®Y Sar =+
FoT F =0 7 7% T

(4) THEAT T g FoA &ty =ty =1 Rraarens g w1 e #20 F

[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q52]

1 [Option ID = 205]

. 2 [Option ID = 206]

3 [Option ID = 207]
. 4 [Option ID = 208]

A wN =

8) According to National Curriculum Framework, 2005, which of the following should be |least
focused upon in mathematics assessment ?

(1) Conceptual understanding of the student

(2) Procedural fluency of the student to solve the problem
(3) Adaptive reasoning of the student
)

(4) Student's disposition about mathematics

TTCET OT5=AT =0T, 2005 F S, Feafatad § & i % e 9 &
T HH FH AT Hiad gl AT ?

(1) F=ef it sagmoes au 97

(2) TR HT g 3 % Terw FE=mdT & giwares 941 9%
(3) =T % ety A= (o) 97

(4) 7T = &1 | M=t it aaegt 07

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]




9) Who among the following is associated with the development of concrete materials for teaching
and learning of mathematical concepts for primary school children ? He is best known for
developing multibase arithmetic blocks.

(1) Zoltan P. Dienes
(2) Jean Piaget

(3) Max Wertheimer
(4) Lev Vygotsky

TTEH T & =1 & MO F AT 5 (00 U7 FERT g T Aretaai
* Taeere = o Fsferfad & & 19 Teg § ? 30 dgAdTe S = 5/due
= for ot ST ST E )

(1) A= oY, 2V
(2) S forarmer

(3) &= wfEme

(4) A ATIRT=0T

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q54]
1 [Option ID = 213]
2 [Option ID = 214]
. 3 [Option ID = 215]
4 [Option ID = 216]

A W N -

10) The primary level mathematics curriculum should emphasise upon

(1) Experiencing abstract mathematical concepts at concrete level
(2) Developing technical mathematical language
(3) Learning specific mathematical symbols

(4) Performing mathematical operations only

Tt T AT A0 qTST=AT T AT FAT ALY

(1) T F9% 9% S TS ST FT AT FIA T
(2) TR T |97 % f&hTe o7
(3) Taferez wivve gt &t i o=
(4) = it H et % e 1T

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q55]
1 [Option ID = 217]
2 [Option ID = 218]
3 [Option ID = 219]
. 4 [Option ID = 220]

A wWw N =



11) Which of the following is the least appropriate characteristic of a mathematics lesson plan ?

1) It makes teaching systematic and well-organized
2) It helps teachers to learn to foresee and tackle learning difficulties of children

3) It helps in developing insights about learning needs and abilities of children

e, e

4) It helps students to develop the habit of undertaking immediate corrective measures

Teafertera § & Fie-HT 70T 37 975 TTS71 i1 799 FH T4 [Faadr g ?

(1) =g v =7 =afegq diT geaaiedad a9rai g

(2) =g Torer=i =1 T=AT Ff AGA A FISATZAT T ATHT T AT Iad Tz
HHIZT FAT &

(3) TE F==T #f HIEA Hif Al AT AAATH & AW H A28 (Fiad Fed J
HEE FIAT T

(4) T FIAT FT THTA TATAHS JITT F4A *il Aad AHEd F2d F 932 FHiLd]

=
Q

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) Which of the following is not a characteristic of “Constructivist” mathematics classroom 7

(1) Teacher helping to create the condition under which children discover concepts

(2) Teacher using various types of activities which are essential for developing mathematical

concepts
(3) Teacher cancentrating on using only standard algorithms to solve a problem

(4) Teacher creating experiential learning environment in the classroom

femterfere o & H1-# 76 T 6T HITaeTn AT A =T agi e ?

(1) sreameh B TRt 7 9917 | 922 Fid 2 gl A== AL T o &

(2) weamow fAafas g #iv wfafEfaar v swawr w=9 € s e
FEaTeEAr & FEE F o amens g

(3) FHEAT HHTATT gq T Fae qIAF Feaa-1a 18 T2 &0TH FHiad F7d ¢

(4) FHEATTH ATHT FLT H ATTATHF ATERTH AT 41T 2

[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q57]

1 [Option ID = 225]

2 [Option ID = 226]

3 [Option ID = 227]
. 4 [Option ID = 228]

A w N =



13) A child in 2 mathematics class says that :
"Sachin Tendulkar's Jersey number is 10."
“Yesterday | went to my uncle’s house in bus number 234.”
Which aspect of the humber the child is refering to ?
(1) Cardinal
(2)
(3) Ordinal
(4)

4) Numeric-value

Nominal

IO =T AT T U T=4T FgAT @

“Hi=T dgaHT H TH =T 108 17

“Fl § AOH =TAT o T T GeAT 234 T IAAT 9T |
T % 3 98 T F=491 Jodd FT 5l g ?

(1) T
(2) #iFa/atE

(3) FHLAS

(4) F=ATHF-ATT
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q58]
. 1 [Option ID = 229]

. 2 [Option ID = 230]

1
2
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) On the basis of the information given in the statement (A), which of the following reason(s) (R1)
and (R2) are correct ?

Statement (A) : A student is unable to add 48 and 89.

Reason (R1) : Student is not comfortable with the concept of place value.
Reason (R2) : Student finds difficulty to operationalize the step of 'Regrouping.’
(1) (R1) is the only correct reason for statement (A)

(2) (R2) is the only correct reason for statement (A)

(3) Both (R1) and (R2) can be the correct reason of statement (A)

(4) Neither (R1) and nor (R2) is the correct reason for statement (A)



FAT (A) T = Te FEFET F g 97, Ftotag § 5 -9 500 (R1) 791
(R2) &t € 7

FAT (A) : TH A 89 F AT 49 FIed F 977 ¢ |

FTT (R1) - T=medT &1t /19 71 S8 7 7989 751 ¢ |

FI0T (R2) - BT 1 TR (0200 % F0 Hl AT o1 Feed 9 F1S775 gial g |

(1) F=et (R1) FAT (A) FT Hgr F1207 g

(2) FAT (R2) FIT (A) FT Hel F0 §

(3) (R1) €™ (R2) F1=1 1 547 (A) F LT FT0T 21 75 &
(4) 7 47 (R1) 3T 7 21 (R2) FAT (A) T Tal FE0T g

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q59]

1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

15) National Education Policy, 2020 lays particular emphasis on

(1) the development of world-class infrastructure
(2) the provision to give 100% employment
(3) the provision to give free education

(4) the development of creative potential of each child

Tregry forear #ifa, 2020 Fomw g = g

(1) Ee-wa ey J=ara F AT av

(2) 100% =TT 3 ¥ =g a7

(3) T foreaT 39 & waer 9v

(4) T F== Al ASAATHE AT & (A T
[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_110_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET

1) The process of cooling due to evaporation is slow when the area of the water surface in
contact with the atmosphere
(1
(2
(3
(4

increases and the wind speed is high.
increases and the wind speed is low.

decreases and the wind speed is low.

T e e St

decreases and the wind speed is high.



AT HT07 Sfraers =it giram T T ST 2 5 argEued § 5 o6 g 755
T EATA
(1) F=AT g AT T F Tg Kl =0 ATXF Zrar g |
(2) FZAT g HT AT F A HT =ATA FH Al g |
(3) TEAT 2 &iT AT & FgA Al AT FH gral g |
(4) T2dT & ST AT F dg H1 F1e ATHF 2T g |
[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_110_Q61]
1 [Option ID = 241}
2 [Option ID = 242]

3 [Option ID = 243]
4 [Option ID = 244]

A wWw N -

2) Which of the following designs is used in rangoli and embroidery in Saurashtra, Gujarat ?

(1) Chowkpurana
(2) Naag Gumphan
(3) Mandana

(4) Aripan

Freforfes & & F-a7 Remes wiere, o # e i@ F:7e ¥ o oagm
[ERUE G

(1) ST
(2) T T
(3) H=TAT
(4) FTTTT

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_110_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]
3) Which of the following options is true about manure ?
A. It enhances the water-holding capacity of soil.
B. It makes the soil hon-porous to stop exchange of gasses.
C. [ltincreases the number of friendly microbes.

D. ltimproves the texture of the soil.

1A BandC
2)B,CandD
3)A,CandD

(
(
(
(4)A,BandD



g1z % s § fw=ietas 5 |7 Fi9-ar @Fer T g 2

A. T AT A TA-GT07 F9AT § iz Fam1 2 |

B. &g AT FT1 FATRHT Trha & form g37 1 d3edt a9ma1 2 |
C. &g 9= SIATar i Je47 | i Farg |

D. Ig F=T HT F7HAT HT Ag7 A1 ¢ |

(1)A, BFaTC
(2)B,CFITD
(3)A, CFITD
(4) A, B F9TD

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_110_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) Select from the following a pair of Union Territories of India :

(1) Jammu and Kashmir and Andman and Nicobar Islands
(2) Nagaland and Lakshadweep

(3) Delhi and Mizoram

(4) Chandigarh and Jharkhand

Teaferfera § & area & 99 onierd w390 F71 I/ M0
(1) 79 37 FeHT AT AveHW & FEEe Saeag
(2) AVTTHTE AT TAGT

(3) TRt & fawH

(4) FUERTE AT ATTETE

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_110_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5) On the class V textbook a map of Golconda Fort is printed. On the right bottom of this map a
scale is given which is as given below
Scale 1 cm = 110 metre
If a student on this map measures the distance between Fateh Darwaza and the Ibrahim Burj
as 12-9 cm, then the actual distance between these two places must be
(1) 14-19 kilometres
(2) 1-419 kilometres
(3) 141-9 metres
(4) 1419 centimetres



FETT V AT TETIEah TF T UeT &t 7 U6 FHi== gaT g | T8 A= 5
=T T 9T o O 9T {3y T E S e I

AT 1 cm = 110 HiET

TF FTE T TH AW TT Fg FTATT AT TATRH Ior & 1 1 T 12:9
cm HTITT g , 97 39 I TATA1 & #1F 50 ATEATa= 320 gl ATig 0

(1) 14-19 Freire=
(2) 1-419 FraTE=
(3) 141-9 H=x

(4) 1419 Tz

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_110_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) The height of the peak of Mount Everest from the sea level is

(1) 7300 metre
(2) 8300 metre
(3) 8900 metre
(4) 8850 metre

qTSUE TAEE Hl FIET H A9z a9 T 54972 ¢

(1) 7300 Hiex
(2) 8300 Hrew
(3) 8900 Hrzw
(4) 8950 Hiex

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_110_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]
7) Which of the following options is true about smog ?
A. Generally formed in winter
B. Made up of smoke and fog
C. Causes ozone depletion

D. Causes asthma and cough

(1)A, C and D
(2)A,BandC
(3)A,BandD
(4)B, Cand D



gT-Hgs & Aug § Fefotea & 9 -1 @rea g g 2
A. T afEat Haaar g

B. 4U dX FELHIar g

C. SIS T HA9HT F3AT1 2

D. =HT UF AIHT 3797 F2aT g

(1) A, C 79T D
(2)A, BFaTC
(3) A, B 79T D
(4)B, CA4T D
[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_110_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]

3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

8) With respect to the location of the capital of India the directions of Jaipur (capital of Rajasthan)
and Dehradun (capital of Uttarakhand) respectively are

(1) South-East and North-East
(2) North-East and South-West
(3) South-West and North-East
(4) North-West and South-East

AT AT TS A Bfa F Ay ST (T A TSA) T IgIEA
(ITITETE A ST A Femd wEer: €

(1) =fEmr-ad &7 39T

(2) IT7-TF & 3famr-atm

(3) -t &fiw 3S9e-

(4) TET-UTEH AT M-I
[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_110_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]

3. 3 [Option ID = 271]
4. 4 [Option ID = 272]



9) Which of the following activities of separation is feasible in primary classroom 7
A. Evaporation
B. Winnowing
C. Magnetic separation
D. Fractional Distillation

(1)Aand D

(2)Band D

(3)B,CandD

(4)A,Band C

fAeferfas & & e & FA-1 FrarsherTa grafeen e § S0 30T 2
A. ArediETo
B. TEFAr
C. FHHIT TIFR

D. YHTSI A=

(1)AT9T D
(2) B &9T D
(3)B, Ca9T D
(4)A, BaFITC
[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_110_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Which of the following musical instruments are used in ‘Been’ party ?

(1) Been, Murli, Sarangi and Dhol

(2) Murli, Tumba, Been and Khanjiri
(3) Tumba, Been, Khanjiri and Dhol
(4) Been, Sarangi, Murli and Khanjiri

feAferied § & F9-8 J7=0 A0 7 FA07 =i qHSeil J Zrang ?
(1) 1=, gatr, araft a7 e
(2) 7=, e, & Fo47 =wdr
(3) TF=, e, TS AT B
(4) Fe, FTEA, AT TAT FT
[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_110_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]

3. 3 [Option ID = 279]
4. 4 [Option ID = 280]



11) Forests are the indicators of natural wealth of a nation. Which of the following statements is
correct for forests ?

(1) They play a role in maintaining water cycle.
(2

)

) It is @ small area of land covered by trees.

3) They provide habitat for domesticated animals.
)

(4) They are non-renewable natural resources.

a9 BT Treg 7 aTpia® U F G9F g § | a0 & 99 § (Meaterad 9 7
FIA-AT FHI7 A1 8 2

(1) T ST =7 T FAT0/AT T3 § G {9me 2 |
(2) T F&AT 7 THT AT UF GeT AT AA Z |

(3) I =¥ TYLEAT 3 {1 ATaTe SHere8 F1d g |

(4) T FFATFHTONT TTHaF FAT9H 2 |

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_110_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) Select correct statement from the following :
(1) Kerala has its coast on Arabian Sea whereas Karnataka has its coast on the Bay of
Bengal.

(2) Karnataka has its coast on Arabian Sea whereas Kerala has its coast on the Bay of
Bengal.

(3) Kerala and Karnataka both have their coasts on the Bay of Bengal.
(4) Kerala and Karnataka both have their coasts on the Arabian Sea.

Feaforfas § & ot 99 g0

(1) F7 FT 92 A7 AW TT FAT FA12H FT G2 ST Hf TSI T2 L |
(2) FATET T A AT AWT TT AT HTA FT 92 ST Hif TSI I L |
(3) FT ST FATeT ST % A ST FT FTEI I L |

(4) F¥ AT FATES AT % 2 JF AW 9T 3 |

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_110_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]




13) High, dry and flat area called “Cold Desert” is a part of our country known as
(1) Shimla (Himachal Pradesh)
(2) Shillong (Meghalaya)
(3) Srinagar (Jammu & Kashmir)
(4) Leh (Ladakh)

ST, I (FTET) ST =FeT e o “SeT TREAT FEd § gHI R FAg e
ST AT g

(1) TorsgeT (A = 9297)
(2) farerter (Framer)

(3) ATFIT (=T AT F9HI)
(4) 7 (FT=TE)

[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_110_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) The date on which Bachendri Pal stepped onto the peak of Mount Everest and pitched the
Indian National Flag (Tiranga/Tricolour) is

(1) 23" May, 1984
(2) 23 May, 1989
(3)25™ May, 1984
(4) 25" May, 1989

7z fafty (=) e 39 99wt o1 7 |/r3ve vae i =40 97 F39 @7 47
T TTeeie eae (o) MeT, §
(1)23 52, 1984
(2) 23 52, 1989
(3)25 7%, 1984
(4) 25 9=, 1989
[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_110_Q74]
L 3iomm o

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]



15) The medicine of snake bite is available in all the government hospitals. It is made from

(1) Shed skin of snake

(2) Poison of snake

(3) Flower of snake gourd plant
(4) Seed of snake gourd plant

Y AT SETATE # A0 & T A f 5 et § 1 7 G e
ST 8 2

(1) =T ¥ AL/EET g2 FH/AAT

(2) &t =7 AR

(3) ==E * TTE T Tl

(4) =T F 9w i

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_110_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_CTET

1) Mendel's experiments have been included in EVS textbooks. The reason for this is
A. todraw students’ attention to steps of scientific inquiry
B. toteach students that traits are transmitted from one generation to ancther
C. to draw students’ attention towards how traits are inherited by successive
generations
D. to help students find resemblances between themselves and their parents or
relatives

(1)Aand C
(2)Aand B
(3)Band C
(4)CandD



T SEAAT 1 TEALeah! o Heer % FTAN Bl AT (AT T4T7 g | T

Ty

A. ATTEH TEATA & F2000 00 AT GTAT T EATT AT 0 Heed T

B. @ i R & o v gt F T Fr = G Wi g

C. TAT FT LI AHTT FAT 130 o 07 AL AT ZIT 9
AL

D. 09 F97 @0 st s v Feaamt 5 9 99 ard geq §

(1)ATATC
(2) ATAT B
(3)BTATC
(4)CFITD

[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_110_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

2) Nazli likes to eat jaggery. In the afternoon, when her mother was sleeping, she went to the
kitchen and located the jaggery jar hidden by her mother.
This is an example of which of the following types of learning ?

A. Classical conditioning
B. Operant conditioning
C. Cognitive learning

D. Instrumental learning

(1)Aand B
(2)Band C
(3)Band D
(4)CandD



ATt T 7€ 9T T9% 2 | 21927 &, ot gersht geeft &7 w27 off, A1 7ot w6
3 7 oire Ter Tt 2T P TS e Y A e o | g e o Frefr
T H HF FIF-87 TF I ?

A.

B

C.

D

ITEATT AT
ERIPLGEE LT
T At

(1)A 4T B

(@)BdwC

(3)B#TD

(4)C #T D
[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_110_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

3) Which of the following statements are related with the term, “continuous” of CCE ?

(
(
(
(

A. Periodic evaluation of known aspects of growth and development
B. Evaluation of curricular and cocurricular aspects of growth and development
C. Diagnosis of learning gaps and provision of corrective measures
D. Measurement of abilities, attitude and aptitude
1)Aand B
2)BandC
3)CandD

4)AandC



fReAforfere & & FI9-7 FI9 99 AT T AT ST F T 9% F

Hqafaa g 2

A. Ffeg dre ToehTe o ATHSTT TRl T SArrereh geAihe

B. afZ fiw e ¥ wrs=at-aw=eeft ofiT agme=aai-araeT T4t #
HeATe

C. SR FFTTaAl 1 FIT9 T IUFTHF IUTAT FT T

D. &THATEl, AT AT ATHH= 1 ATTH

(1)A 4T B

(@)BdwC

(3)C #™ D

(4)AdC
[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_110_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]

3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

4) EVS is the study of the environment that refers to the surroundings in which we live. It consists
of themes and sub-themes. Which of the following is a main theme ?

(1) Relationships

(2) Plants

(3) Work and play

(4) Things we make and do

AT HEAIT TIAT FT A HeAAT g Tl WA AT g g TE-TE W ° o
TH 7R € | THF daid 99 [A9T 797 39-fA97 g § | Wetetad § 7 wra-ar
qe=7 fAuT 3 ?

(1) Heig

(2) drer

(3) FT TH FTES

(4) =TSt SIT g9 97 & TAqT F3d 2
[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_110_Q79]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]

3. 3 [Option ID = 315]
4. 4 [Option ID = 316]




5) The EVS textbook has a chapter on displacement of people, titled as 'no place for us'. Itis
intended to make children aware and be sensitized

(1) about sufferings of people who are displaced from their native place in the name of
development

(2) that displacement of people is necessary for development of country
(3) that city people do not create garbage, cities are dirty because of the slums

(4) that the life of village people will be better in a big city

AT FEAAT Al TTSTIEd o UH T3 TR0 % (Ao 77 g, S oftd= 2
‘gare T FE = @0 | g T=A W WA A dasadfte a9 w oo
EEEER

(1) 37 FIT T 92T F I 7 g 3961 oA 7 @ F 99 a7 Hentg
T g
(2) T Zor % TE=re BT AWM HT FEq0T 99+ g
(3) 7 a12¥T AT FET-F7He Ioaw Al F2d, AgT FTAT & FIW T2 2
(4) & = T g7 | qrH AR FT AT dga7 g’
[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_110_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]

3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) Which of the following statements is the most accurate explanation for including lots of pictures
in EVS books for classes 310 57
A. Pictures attract children
B. Children are in the concrete operational stage of development
C. Children understand the concept faster through pictures

D. Pictures make the book attractive

(1)A and B
(2)BandC
(3)Cand D
(4)Aand D



Ffored F & F9-9 99 TIE JATT A0 FEAT S F TG4l a5 A
TR § &7 AT ST F aveer FR f Aias a8 ST w99 g 7

A. 5 a==t i1 arftia w7 &

B. &= f3=T= #if 9 S gTea® avaTH 2

C. =+ f==1 F "reqT T ATLATIOTT T FHoal THAT 2

D. == & oA s aqdr g

()A#TB

(2) B3 C

(3)C &~ D

(@) A€ D
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_110_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

7) An effective way for a teacher to teach the topic ‘germination of seed’ will be by :

(1) asking students to watch an animated video of germination of moong seeds
(2) making a chart of germination of moong seeds
(3) asking students to sprout moong seeds and record the observation

(4) showing a model of germination of moong seeds

T HEATTH % o1 IS 7 00 1 A9a Uzt % forg waratr aiist g

(1) FE=THAT 7 v FeiiET (UATHeS) Aiedr 3@ & oy wgar o aEga 9
EEIE AR ERR N IR R
(2) T 3 TSI FT FFHLO FT FTE FAAT
(3) F=rfo= & H F s F AT FA F [ FEAT AT AU ATATEA
i F29 F1 Tz
(4) |1 = =f{sTT 3 Spor T Hied fGEmr
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_110_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]




8) The National Curriculum Framework (NCF), 2005 emphasizes that learning of EVS should take
place through

(1) interactions with the environment around us, nature, things and people, both through
actions and through language

(2) only EVS textbooks prepared by NCERT and State boards

(3) teachers and students involved in activities related to the environment

(4) activities selected by the teachers suitable for the students

TTET IT5= AT i =ET (UH.97.0F. ), 2005 30 &19 92 S17 =497 g 3 TEa

FETIT T (9T gt AT 0

(1) EHTE ATT-ATH & ATATAC0T, THId, ST AT AT F 17 Fra= 1, e /e
ATUT 21 HIETH F

(2) Faer uH A T AT A T T TSt 2T U Ay e UATHI dAEATT A

(3) FATEET & TETeT Aiata et § ot forers efre =iyt g

(4) Te=rTiae = form feverht g =2\ S aiatafeat g

[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_110_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

9) Fill in the blank with the maost appropriate option.
should become a medium for engaging young minds in first-hand observation of

nature and understanding the pattern and processes in the natural and social worlds.

(1) Parents

(2) Peers

(3) Environment
(4) Teachers

T SUAFT Ao 7 foww wa & gfe e
T ATST FT AHEAT § AT AR F7 aniier FIF F UFE ATIH T997 120 |

(1) FraT-faT Fr
(2) =TT #r
(3) THTEOT F
(4) ferer=t &t

[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_110_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]




4. 4 [Option ID = 336]

10) This year lots of mangoes were collected from the school's garden. Julie thought to utilize
mangoes for teaching the chapter "Mangoes around the year” of class V environmental
studies,

What will be the most appropriate approach to teach this chapter ?
A. Visit to a food processing unit in which students are briefed about processing
process by an expert
B. Organising 2 "mango eatables fest,” where students put stalls of various dishes of
mangoes prepared by them
C. Inviting an expert from food processing unit for an expert lecture in your class

D. Organise an exhibition in which various food items prepared from mango are
displayed

(1)Aand B
(2)A,CandD
(3)Band C
(4)CandD

T HTT FHeT 6 A F FF HIL ATH THET g0 | AT T T2 ALTAT F8T V F
UT3 "0 ATH AT 1 Held” T4 = 10 2 ATHI 7 STAN] F7 % J17 H =7 |
T UTS T T & o0 FETa SUgEd a9 30 q-a1 g ?
A, =T TR TATe ga, e e Fenfat wir seene gt
F AT F Famt
B. "o @1 u=TY sa” & ararew, fored et ows g amm g
& = TATH =1 FT =id a9
C. T THEHI THIL & (919 F ATTH FerT § Forasy 711 & forg
D. TF TR FT A, s ¥ a9 =i gver g5t #i 9356
(1)A & B
(2)A, C &7 D
(3)B & C
(4)C ¥ D
[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_110_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]

3. 3 [Option ID = 339]
4. 4 [Option ID = 340]




11) For EVS teaching, a teacher should select which of the following ?

(1) Providing students opportunity to work alone
(2) Helping students in doing work
(3) Providing students opportunity to work in small groups

(4) Providing students opportunity to work in large groups

Tt e frrr 2, wer i fetetae § & P =99 £ /10
?
(1) F=AT FT Fhed FHTA FAA & ATTT TS FHY
(2) FT=3T FT FT4 F7A § I8 F¢
(3) T==T &1 G TGl H 1 HOA 6 AT TZH FF
(4) =A1 T qF AT H T F2A F ATAL TIT FL
[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_110_Q86]
. 1 [Option ID = 341]
. 2 [Option ID = 342]

1
2

3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) The key concepts/issues addressed in the theme "Water’ in class Il EVS are

(1) Local sources of water, uses of water, gender roles, distance estimates

(2) Local sources of water, uses of water, gender roles, distance estimates, social
discrimination, clean water for drinking

(3) Local sources of water, uses of water, gender roles, distance estimates, purification of
water

(4) Local sources of water, uses of water, gender roles, distance estimates, rainwater
harvesting

FeT Il T TET F57a § Fugan w9 § 59 ggeagr svedl/Aea @
T BATaT e, A8

(1) ST % T Hd, T 6 ITART, T g, T3 F A9

(2) ST F T A, T & g0, T 1 qieeT, 90 F ATAE, qrHish

(3) ST F TAT &9, W & ITAN, o7 GiE=T, T F J9GAW, q F7
EiEDRl

(4) ST % TITT HE, o F g, o affew, T F e, Aot augm

[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_110_Q87]
1 [Option ID = 345]
2 [Option ID = 346]
3 [Option ID = 347]
4 [Option ID = 348]

A W N -



13) Which of the following process describes the nature of assessment ?
A. Interactive
B. Constructive
C. Summative

D. Evaluation

(1)A,Band C
(2)B,CandD
(3)A, CandD
(4)A, Band D

e | | F-HT T AR 0 Tl %0 2T F24d71 g ?

A. HATEHF
B. =ATH®
C. TNTHF
D. H A
(1)A, BT C
(2)B,C & D
(3)A, C#TD
(4)A, B 3T D

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_110_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) Heredity is an abstract concept for students of class - V. Heena, an EVS teacher will organise
for creating an understanding of heredity for her students.

(1) hands on activities
(2
(3
(

4) analysis of examples

role play

exploratory activities

)
)
)
)

FET V  FE=nteat & o demgae/aa 0T U @ 9999 2 | UF 99
Feae A1 FAferET gt duw Fenta § argafoerar it g9 957 599 F oy
T ATHTAA FAAT

(1) gt & FrarsherT

(2) qferr fram

(3) =TT AT

(4) FITgOT =T fAeeror



[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_110_Q89]
1 [Option ID = 353]
2 [Option ID = 354]
3 [Option ID = 355]
4 [Option ID = 356]

A wnN =

15) Identify the features of EVS curriculum at the primary level from the following :
A. Inclusive
B. Contextual
C. Experiential
D. Global to local/subject-centred

1)Aand B
2)BandC
3)A,CandD
4)A, BandC

e e

ot & & ST &% 9% THET0 FETAT A OTSEAT i et iy
TEATT HITST0

A. FHEEE

B. #=« #fgd

C. Aq9ATHF

D. #Frs & sai/ AT

(YATB

(2)B#TC

(3)A, C#TD

(4)A, B&TC

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_110_Q90]
1 [Option ID = 357]
2 [Option ID = 358]
3 [Option ID = 359]
4 [Option ID = 360]

A wWw N =

Topic:- ENG_Q91-99_L1_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

1. Advertisements have become a part of our lives. We cannot live without them, they attack us
from all sides. Step out of the house and they stare at you from all corners, promoting products
from needles to cars, from sportswear to branded watches. At home, every five minutes, TV
programmes are interrupted to tell us what toothpaste we should buy, what kind of oil is good
for our hair or even which toy to give 2 newborn baby. So many kinds of goods are displayed,
so many temptations are presented that the poor consumer does not know what to buy or
reject.

2. Advertisements are a help because they tell us about a new product or service. Without
them one would not know what advancement has been made in any field. We will not be able
to learn about the merits of a new product. It can be anything — a new medicine, a government
scheme or even the launch of a new film... the list is endless. Advertisements also lead to
competition and better products come into the market.

3. As long as competition is healthy it is good. However, some are in bad taste. Some are so
attractive that they persuade people to buy things which they do not need. Film stars are roped
in to make the product popular. At times exotic locations where they are shot add that extra
persuasive power. Buyers should be aware about the quality of the product they buy and its
price so that they are not lured to buy unnecessary items.

‘We cannot live without them'. The underlined word in this sentence is a/an
(1) Preposition

(2) Verb

(3) Adjective

(4) Adverb

[Question ID = 91][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q91]

A W N -

1 [Option ID = 361]
2 [Option ID = 362]
3 [Option ID = 363]
4 [Option ID = 364]



2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

1. Advertisements have become a part of our lives. We cannot live without them, they attack us
from all sides. Step out of the house and they stare at you from all corners, promoting products
from needles to cars, from sportswear to branded watches. At home, every five minutes, TV
programmes are interrupted to tell us what toothpaste we should buy, what kind of oil is good
for our hair or even which toy to give 2 newborn baby. So many kinds of goods are displayed,
so many temptations are presented that the poor consumer does not know what to buy or
reject.

2. Advertisements are a help because they tell us about a new product or service. Without
them one would not know what advancement has been made in any field. We will not be able
to learn about the merits of a new product. It can be anything — a new medicine, a government
scheme or even the launch of a new film... the list is endless. Advertisements also lead to
competition and better products come into the market.

3. As long as competition is healthy it is good. However, some are in bad taste. Some are so
attractive that they persuade people to buy things which they do not need. Film stars are roped
in to make the product popular. At times exotic locations where they are shot add that extra
persuasive power. Buyers should be aware about the quality of the product they buy and its
price so that they are not lured to buy unnecessary items.

The word ‘merits’ in the expression ‘the merits of a new product’ is a/an

(1) Adverb
(2) Adjective
(3) Noun

(4) Verb

[Question ID = 92][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q92]

A W N -

1 [Option ID = 365]
2 [Option ID = 366]
3 [Option ID = 367]
4 [Option ID = 368]



3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

1. Advertisements have become a part of our lives. We cannot live without them, they attack us
from all sides. Step out of the house and they stare at you from all corners, promoting products
from needles to cars, from sportswear to branded watches. At home, every five minutes, TV
programmes are interrupted to tell us what toothpaste we should buy, what kind of oil is good
for our hair or even which toy to give 2 newborn baby. So many kinds of goods are displayed,
so many temptations are presented that the poor consumer does not know what to buy or
reject.

2. Advertisements are a help because they tell us about a new product or service. Without
them one would not know what advancement has been made in any field. We will not be able
to learn about the merits of a new product. It can be anything — a new medicine, a government
scheme or even the launch of a new film... the list is endless. Advertisements also lead to
competition and better products come into the market.

3. As long as competition is healthy it is good. However, some are in bad taste. Some are so
attractive that they persuade people to buy things which they do not need. Film stars are roped
in to make the product popular. At times exotic locations where they are shot add that extra
persuasive power. Buyers should be aware about the quality of the product they buy and its
price so that they are not lured to buy unnecessary items.

The opposite of ‘ordinary’ in para 3 is
(1) Exotic

(2) Healthy

(3) Persuasive

(4) Popular

[Question ID = 93][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q93]

A W N -

1 [Option ID = 369]
2 [Option ID = 370]
3 [Option ID = 371]
4 [Option ID = 372]



4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

1. Advertisements have become a part of our lives. We cannot live without them, they attack us
from all sides. Step out of the house and they stare at you from all corners, promoting products
from needles to cars, from sportswear to branded watches. At home, every five minutes, TV
programmes are interrupted to tell us what toothpaste we should buy, what kind of oil is good
for our hair or even which toy to give 2 newborn baby. So many kinds of goods are displayed,
so many temptations are presented that the poor consumer does not know what to buy or
reject.

2. Advertisements are a help because they tell us about a new product or service. Without
them one would not know what advancement has been made in any field. We will not be able
to learn about the merits of a new product. It can be anything — a new medicine, a government
scheme or even the launch of a new film... the list is endless. Advertisements also lead to
competition and better products come into the market.

3. As long as competition is healthy it is good. However, some are in bad taste. Some are so
attractive that they persuade people to buy things which they do not need. Film stars are roped
in to make the product popular. At times exotic locations where they are shot add that extra
persuasive power. Buyers should be aware about the quality of the product they buy and its
price so that they are not lured to buy unnecessary items.

The word ‘endless’ in para 2 means the same as

(1) always ending
(2) never ending

(3) partially ending
(4) ending altogether

[Question ID = 94][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q94]

A W N -

1 [Option ID = 373]
2 [Option ID = 374]
3 [Option ID = 375]
4 [Option ID = 376]



5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

1. Advertisements have become a part of our lives. We cannot live without them, they attack us
from all sides. Step out of the house and they stare at you from all corners, promoting products
from needles to cars, from sportswear to branded watches. At home, every five minutes, TV
programmes are interrupted to tell us what toothpaste we should buy, what kind of oil is good
for our hair or even which toy to give 2 newborn baby. So many kinds of goods are displayed,
so many temptations are presented that the poor consumer does not know what to buy or
reject.

2. Advertisements are a help because they tell us about a new product or service. Without
them one would not know what advancement has been made in any field. We will not be able
to learn about the merits of a new product. It can be anything — a new medicine, a government
scheme or even the launch of a new film... the list is endless. Advertisements also lead to
competition and better products come into the market.

3. As long as competition is healthy it is good. However, some are in bad taste. Some are so
attractive that they persuade people to buy things which they do not need. Film stars are roped
in to make the product popular. At times exotic locations where they are shot add that extra
persuasive power. Buyers should be aware about the quality of the product they buy and its
price so that they are not lured to buy unnecessary items.

‘They stare at you from all corners.’ The word ‘they’ refers to
(1) Advertisers

(2) Products

(3) Advertisements

(4) Consumers

[Question ID = 95][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q95]

A W N -

1 [Option ID = 377]
2 [Option ID = 378]
3 [Option ID = 379]
4 [Option ID = 380]



6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

1. Advertisements have become a part of our lives. We cannot live without them, they attack us
from all sides. Step out of the house and they stare at you from all corners, promoting products
from needles to cars, from sportswear to branded watches. At home, every five minutes, TV
programmes are interrupted to tell us what toothpaste we should buy, what kind of oil is good
for our hair or even which toy to give 2 newborn baby. So many kinds of goods are displayed,
so many temptations are presented that the poor consumer does not know what to buy or
reject.

2. Advertisements are a help because they tell us about a new product or service. Without
them one would not know what advancement has been made in any field. We will not be able
to learn about the merits of a new product. It can be anything — a new medicine, a government
scheme or even the launch of a new film... the list is endless. Advertisements also lead to
competition and better products come into the market.

3. As long as competition is healthy it is good. However, some are in bad taste. Some are so
attractive that they persuade people to buy things which they do not need. Film stars are roped
in to make the product popular. At times exotic locations where they are shot add that extra
persuasive power. Buyers should be aware about the quality of the product they buy and its
price so that they are not lured to buy unnecessary items.

Advertisements are a help to buyers because they

(a) inform us about a new product

(b) tell about the demerits of a product

(c) inform us when better products come to the market
(d) always bring in healthy competition

(1) (b) and (c) are correct, but (d) is incorrect

(2) (a) and (c) are correct, but (d) is incorrect

(3) (a) and (b) are correct, but (c) is incorrect

(4) (c) and (d) are incorrect, but (a) is correct

[Question ID = 96][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q96]

A W N -

1 [Option ID = 381]
2 [Option ID = 382]
3 [Option ID = 383]
4 [Option ID = 384]



7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

1. Advertisements have become a part of our lives. We cannot live without them, they attack us
from all sides. Step out of the house and they stare at you from all corners, promoting products
from needles to cars, from sportswear to branded watches. At home, every five minutes, TV
programmes are interrupted to tell us what toothpaste we should buy, what kind of oil is good
for our hair or even which toy to give 2 newborn baby. So many kinds of goods are displayed,
so many temptations are presented that the poor consumer does not know what to buy or
reject.

2. Advertisements are a help because they tell us about a new product or service. Without
them one would not know what advancement has been made in any field. We will not be able
to learn about the merits of a new product. It can be anything — a new medicine, a government
scheme or even the launch of a new film... the list is endless. Advertisements also lead to
competition and better products come into the market.

3. As long as competition is healthy it is good. However, some are in bad taste. Some are so
attractive that they persuade people to buy things which they do not need. Film stars are roped
in to make the product popular. At times exotic locations where they are shot add that extra
persuasive power. Buyers should be aware about the quality of the product they buy and its
price so that they are not lured to buy unnecessary items.

Read the following statements:

(a) Audience should be aware of the products they buy.

(b) Audience is usually benefitted by watching advertisments.
(1) Both (a) and (b) are correct

(2) (a) is correct, but (b) is incorrect

(3) Both (a) and (b) are incorrect

(4) (a) is incorrect, but (b) is correct

[Question ID = 97][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q97]

AW N =

1 [Option ID = 385]
2 [Option ID = 386]
3 [Option ID = 387]
4 [Option ID = 388]



8) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

1. Advertisements have become a part of our lives. We cannot live without them, they attack us
from all sides. Step out of the house and they stare at you from all corners, promoting products
from needles to cars, from sportswear to branded watches. At home, every five minutes, TV
programmes are interrupted to tell us what toothpaste we should buy, what kind of oil is good
for our hair or even which toy to give 2 newborn baby. So many kinds of goods are displayed,
so many temptations are presented that the poor consumer does not know what to buy or
reject.

2. Advertisements are a help because they tell us about a new product or service. Without
them one would not know what advancement has been made in any field. We will not be able
to learn about the merits of a new product. It can be anything — a new medicine, a government
scheme or even the launch of a new film... the list is endless. Advertisements also lead to
competition and better products come into the market.

3. As long as competition is healthy it is good. However, some are in bad taste. Some are so
attractive that they persuade people to buy things which they do not need. Film stars are roped
in to make the product popular. At times exotic locations where they are shot add that extra
persuasive power. Buyers should be aware about the quality of the product they buy and its
price so that they are not lured to buy unnecessary items.

Advertisements are nof helpful when they

(1) talk about advancements made
(2) inform about a new product
(3) persuade people to buy things they don'’t need

(4) introduce merits of a product

[Question ID = 98][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q98]

A W N -

1 [Option ID = 389]
2 [Option ID = 390]
3 [Option ID = 391]
4 [Option ID = 392]



9) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

1. Advertisements have become a part of our lives. We cannot live without them, they attack us
from all sides. Step out of the house and they stare at you from all corners, promoting products
from needles to cars, from sportswear to branded watches. At home, every five minutes, TV
programmes are interrupted to tell us what toothpaste we should buy, what kind of oil is good
for our hair or even which toy to give 2 newborn baby. So many kinds of goods are displayed,
so many temptations are presented that the poor consumer does not know what to buy or
reject.

2. Advertisements are a help because they tell us about a new product or service. Without
them one would not know what advancement has been made in any field. We will not be able
to learn about the merits of a new product. It can be anything — a new medicine, a government
scheme or even the launch of a new film... the list is endless. Advertisements also lead to
competition and better products come into the market.

3. As long as competition is healthy it is good. However, some are in bad taste. Some are so
attractive that they persuade people to buy things which they do not need. Film stars are roped
in to make the product popular. At times exotic locations where they are shot add that extra
persuasive power. Buyers should be aware about the quality of the product they buy and its
price so that they are not lured to buy unnecessary items.

‘However, some are in bad taste.’ What does the writer want to convey about advertisements
through this expression?

(1) Healthy and popular

(2) Creative and persuasive
(3) Informative and misleading
(

4) Inappropriate and offensive

[Question ID = 99][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q99]

A w N =

1 [Option ID = 393]
2 [Option ID = 394]
3 [Option ID = 395]
4 [Option ID = 396]

Topic:- ENG_Q100-105_L1_P1_CTET



1) Directions : Read the extract given below and answer the questions that follow by selecting the

correct/most appropriate options.

I've always admired roses, but not for their colour,

There's something about them that | haven't yet discovered.
Yet everyone tells me

That I'm |looking into deep,

That it is just a flower

Just a little prize you can keep

But yet there is something special about the roses you see,
And it's not about the petals, it's about thorns to me.

It puzzles me how something

So beautiful and rare,

Can cut you so deep

And you wouldn’t even care.

Identify the rhyme scheme in lines 3 - 6.

(1) cedd
(2) cdde
(3) cded
(4) cdec

[Question ID = 100][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q100]

1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3.

4. 4 [Option ID = 400]

3 [Option ID = 399]

2) Directions : Read the extract given below and answer the questions that follow by selecting the

correct/most appropriate options.

I've always admired roses, but not for their colour,

There's something about them that | haven't yet discovered.
Yet everyone tells me

That I'm looking into deep,

That it is just a flower

Just a little prize you can keep

But yet there is something special about the roses you see,
And it's not about the petals, it's about thorns to me.

It puzzles me how something

So beautiful and rare,

Can cut you so deep

And you wouldn’t even care.

The expression ‘something special’ in line 7 is an example of
(1) Alliteration
(2) Personification

(3) Hyperbole
(4) Metaphor



[Question ID = 101][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q101]
1 [Option ID = 401]
2 [Option ID = 402]
3 [Option ID = 403]
4 [Option ID = 404]

A W N -

3) Directions : Read the extract given below and answer the questions that follow by selecting the
correct/most appropriate options.
I've always admired roses, but not for their colour,
There's something about them that | haven't yet discovered.
Yet everyone tells me
That I'm looking into deep,
That it is just a flower
Just a little prize you can keep
But yet there is something special about the roses you see,
And it's not about the petals, it's about thorns to me.
It puzzles me how something
So beautiful and rare,
Can cut you so deep
And you wouldn’t even care.

What puzzles the poet?

(1) Beauty and rarity of roses

(2) Thorns that cut deep

(3) The colourful petals

(4) Something special about the roses
[Question ID = 102][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q102]
1 [Option ID = 405]
2 [Option ID = 406]

3 [Option ID = 407]
4 [Option ID = 408]

A wN =



4) Directions : Read the extract given below and answer the questions that follow by selecting the
correct/most appropriate options.
I've always admired roses, but not for their colour,
There's something about them that | haven't yet discovered.
Yet everyone tells me
That I'm looking into deep,
That it is just a flower
Just a little prize you can keep
But yet there is something special about the roses you see,
And it's not about the petals, it's about thorns to me.
It puzzles me how something
So beautiful and rare,
Can cut you so deep
And you wouldn't even care.

Why has the poet always admired roses?

1) For their colour, beauty and rarity

(

(2) For being a prized flower

(3) For their unigueness which he has to yet discover
(

4) For hurting in spite of being beautiful

[Question ID = 103][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q103]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

5) Directions : Read the extract given below and answer the questions that follow by selecting the
correct/most appropriate options.
I've always admired roses, but not for their colour,
There's something about them that | haven't yet discovered.
Yet everyone tells me
That I'm looking into deep,
That it is just a flower
Just a little prize you can keep
But yet there is something special about the roses you see,
And it's not about the petals, it's about thorns to me.
It puzzles me how something
So beautiful and rare,
Can cut you so deep
And you wouldn’t even care.

The word ‘rare’ in the line ‘so beautiful and rare’ means

(1) bizzare
(2) familiar
(3) unigue

(4) ordinary



[Question ID = 104][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q104]
1 [Option ID = 413]
2 [Option ID = 414]
3 [Option ID = 415]
4 [Option ID = 416]

A W N -

6) Directions : Read the extract given below and answer the questions that follow by selecting the
correct/most appropriate options.
I've always admired roses, but not for their colour,
There's something about them that | haven't yet discovered.
Yet everyone tells me
That I'm looking into deep,
That it is just a flower
Just a little prize you can keep
But yet there is something special about the roses you see,
And it's not about the petals, it's about thorns to me.
It puzzles me how something
So beautiful and rare,
Can cut you so deep
And you wouldn’t even care.

Read the following statements:

(a) People tell the poet that he is being over analytical and observant while
admiring roses.

(b) The poet admires roses only for their beauty and colour.

(1) Both (a) and (b) are correct

(2) (a) is correct , but (b) is incorrect

(3) Both (2) and (b) are incorrect

(4) (a) is incorrect, but (b) is correct
[Question ID = 105][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q105]
1 [Option ID = 417]
2 [Option ID = 418]

3 [Option ID = 419]
4 [Option ID = 420]

A wWw N =

Topic:- ENG_Q106-120_L1_P1_CTET

1) A significant feature of Indian multilingualism is the dissociation of the language from the script.
For instance,

(1) one may be able to write in two languages.

(2) one may be able to write in a language but not speak that language.
(3) one may write Urdu using the Devnagari script.

(4) one may write English using phonetic symbols.

[Question ID = 106][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q106]
1 [Option ID = 421]
. 2 [Option ID = 422]
3 [Option ID = 423]
4 [Option ID = 424]

A wnN =



2) Translanguaging

1) shifts the focus from using many languages to using one.

(
(2) sees languages as a ‘process’ instead of as an ‘object’.
(3)is a new term for multilingualism in recent literature.

(

4) places language at the center of the larger tradition of translation.

[Question ID = 107][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q107]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

3) Creativity in language education is/are

1) open-ended novel classroom tasks which allow for different interpretations and answers.

(
(2) merging elements from different subjects to understand something.
(3) classroom activity using new methods of teaching.

(

4) classroom materials using communicative language teaching.

[Question ID = 108][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q108]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

4) Which of the following is good advice for a listening lesson?

1) Hand out the detailed listening task before playing the recording.

(
(2) Write on the board with a squeaky pen during the gist listening.
(3) Do not play the recording more than once.

(

4) Do not pause to check if the listening text is appropriate for the level of the students.

[Question ID = 109][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

5) Which one of these is nota step in a grammar lesson ?

1) Teacher-led correction of student language.

(
(2) Do a communication activity requiring the use of a specific grammar point.
(3) Checking of meaning and form by teacher.

(

4) Drill the sentences taught.

[Question ID = 110][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]



6) Which of the following is nofa concept from language education?

1) Translanguaging

(

(2) Intelligence
(3) Reading disorder

(4) Specific language impairment

[Question ID = 111][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

7) Teacher questions are an important instructional tool in a language class as

1) they allow teachers some respite from talking constantly.

(

(2) they increase student participation in class.

(3) teachers do not need to rely on long explanations.
(

4) teachers can take quick decisions about the lesson plan during this time.

[Question ID = 112][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q112]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

8) A dictionary has many features. Which of the following is not given in a common student’s
dictionary?
(1) Pronunciation
(2) Word meaning
(3) Word origin
(4) Stress

[Question ID = 113][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q113]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

9) Which of the following is nofan aspect of reading?

(1) Recognizing the script of a language
(2) Interpreting a text by going outside it
(3) Identifying the main points in a text

(4) Identifying active versus passive voice

[Question ID = 114][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



10) In language teaching contexts, the concept of ‘authenticity’ applies to

) tasks with genuine communicative purpose

(1

(2) bilingual word lists

(3) spoken and written texts
(

4) early literacy

[Question ID = 115][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q115]
1 [Option ID = 457]
2 [Option ID = 458]
3 [Option ID = 459]
4 [Option ID = 460]

A wWN =

11) Which of the following statements regarding the use of language games is incorrect ?

1) A game distracts students from the objectives of learning.

(
(2) Games can be used for reinforcing previous learning.
(3) A game makes a good task to being a lesson.

(

4) It is difficult to connect games with learning objectives.

[Question ID = 116][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q116]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

12) Provided below are ideas for teaching speaking. Identify the idea that is nof so useful.

1) Prepare students by providing them phrases to use before they speak.

(
(2) The topic for practising speaking should be as per the level of the learners.
(3) A speaking lesson may draw information from a previous reading lesson.

(

4) Correcting students is best done while speaking.

[Question ID = 117][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q117]
1 [Option ID = 465]
2 [Option ID = 466]
3 [Option ID = 467]
4 [Option ID = 468]

A W N -

13) Which of the following is noftrue of National Education Policy, 2020 on language education ?

1) Study of foreign languages at the secondary stages.

(
(2) Study of classical languages at the middle and secondary stages.
(3) Home language/Mother tongue as medium of instruction.

(

4) English as medium of instruction from early years of schooling.

[Question ID = 118][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q118]
1 [Option ID = 469]
2 [Option ID = 470]
3 [Option ID = 471]
4 [Option ID = 472]

A wpN =



14) A teacher conducts various types of tests, both written, oral and through assignments and

tasks from time to time and later includes them for assessment. What is this assessment
known as ?

1) Formative assessment

(
(2) Summative assessment
(3) Portfolio assessment

(

4) Competency-based assessment

[Question ID = 119][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q119]

A wWw N -

1 [Option ID = 473]
2 [Option ID = 474]
3 [Option ID = 475]
4 [Option ID = 476]

15) Hindi spoken in the western part of Uttar Pradesh is slightly different from the Hindi spoken in

the eastern part of Bihar. But speakers from these two regions can understand the other variety
of the language. What are the two varieties of Hindi known as?

1) Different languages

(

(2) One is Hindi and another is Bhojpuri
(3) They are the dialects of Hindi language
(

4) They are the same variety

[Question ID = 120][Question Description = CTET_P1_PART_4_L1_SET_110_ENGLISH_Q120]

A W N -

1 [Option ID = 477]
2 [Option ID = 478]
3 [Option ID = 479]
4 [Option ID = 480]

Topic:- HIN_Q121-128_L2_P1_CTET
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[Question ID = 181][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q121]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]
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[Question ID = 182][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q122]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]
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[Question ID = 183][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q123]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]

3. 3 [Option ID = 731]
4. 4 [Option ID = 732]
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[Question ID = 184][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q124]
1. 1 [Option ID = 733]



2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]
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[Question ID = 185][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q125]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]
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[Question ID = 186][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q126]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]

3. 3 [Option ID = 743]
4. 4 [Option ID = 744]
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[Question ID = 187][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q127]
1. 1 [Option ID = 745]




2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]
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[Question ID = 188][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q128]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

Topic:- HIN_Q129-135_L2_P1_CTET
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[Question ID = 189][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q129]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]
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[Question ID = 190][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q130]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]

3. 3 [Option ID = 759]
4. 4 [Option ID = 760]
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[Question ID = 191][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q131]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]

3. 3 [Option ID = 763]
4. 4 [Option ID = 764]
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[Question ID = 192][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q132]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]
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[Question ID = 193][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q133]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]
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[Question ID = 194][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q134]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]
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[Question ID = 195][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q135]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q136-150_L2_P1_CTET
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[Question ID = 196][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q136]

1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
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3. 3 [Option ID = 783]
4. 4 [Option ID = 784]
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[Question ID = 197][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q137]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]

3. 3 [Option ID = 787]
4. 4 [Option ID = 788]
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[Question ID = 198][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q138]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]
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[Question ID = 199][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q139]

1. 1 [Option ID = 793]

2. 2 [Option ID = 794]

3. 3 [Option ID = 795]
4. 4 [Option ID = 796]




5 fFraforfas 7 & F9-97 STHO0 F 975 w1 T qgl e ?

(1) sATHTE 97 TATAT 1 o=
(2) Tt = favg % 9 61 7= F o war § st sv: G w3
(3) FreATTF TET AT 7 FHaw F qAF FAT
(4) TH AT THLT AT ATAT H 521 FT AAATS FAT
[Question ID = 200][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q140]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]

3. 3 [Option ID = 799]
4. 4 [Option ID = 800]
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[Question ID = 201][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q141]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]

3. 3 [Option ID = 803]
4. 4 [Option ID = 804]
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[Question ID = 202][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q142]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]
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[Question ID = 203][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q143]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]



3. 3 [Option ID = 811]
4. 4 [Option ID = 812]
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[Question ID = 204][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q144]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]

3. 3 [Option ID = 815]
4. 4 [Option ID = 816]
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[Question ID = 205][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q145]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]

3. 3 [Option ID = 819]
4. 4 [Option ID = 820]
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1[Q:J¢[e;ti9n I|[[J> =822(1)]6][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q146]
2. 2 [Option ID = 822]

3. 3 [Option ID = 823]
4. 4 [Option ID = 824]
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[Question ID = 207][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q147]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]

3. 3 [Option ID = 827]
4. 4 [Option ID = 828]
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[Question ID = 208][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q148]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]

3. 3 [Option ID = 831]
4. 4 [Option ID = 832]
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[Question ID = 209][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q149]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]
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[Question ID = 210][Question Description = CTET_P1_PART_5_L2_SET_110_HINDI_Q150]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]

3. 3 [Option ID = 839]
4. 4 [Option ID = 840]






